

# Office of the City Clerk

City Hall 121 N. LaSalle St. Room 107 Chicago, IL 60602 www.chicityclerk.com

## **Legislation Text**

File #: O2011-1851, Version: 1

ORDINANCE TRADER JOE'S Acct. No. 211718-5 Permit No. 1094461

Be It Ordained by the City Council of the City of Chicago:

SECTION 1. Permission and authority are hereby given and granted to TRADER JOE'S, upon the terms and subject to the conditions of this ordinance to construct, install, maintain and use eight (8) Awning(s) projecting over the public right-of-way adjacent to its premises known as 667 W. Diversey Pkwy..

Said Awning(s) at W. Diversey Parkway measure(s):

One (1) at seventeen point four two (17.42) feet in length, and two point eight three (2.83) feet in width for a total of forty-nine point three (49.3) square feet.

One (1) at ten point seven five (10.75) feet in length, and two point eight three (2.83) feet in width for a total of thirty point four two (30.42) square feet.

One (1) at sixteen point three three (16.33) feet in length, and two point eight three (2.83) feet in width for a total of forty-six point two one (46.21) square feet.

One (1) at thirteen point two five (13.25) feet in length, and two point eight three (2.83) feet in width for a total of thirty-seven point five (37.5) square feet.

One (1) at thirteen point five eight (13.58) feet in length, and two point eight three (2.83) feet in width for a total of thirty-eight point four three (38.43) square feet.

One (1) at thirteen point nine two (13.92) feet in length, and two point eight three (2.83) feet in width for a total of thirty-nine point three nine (39.39) square feet.

One (1) at ten point one seven (10.17) feet in length, and two point eight three (2.83) feet in width for a total of twenty-eight point seven eight (28.78) square feet.

One (1) at fifteen point seven five (15.75) feet in length, and two point eight three (2.83) feet in width for a total of forty-four point five seven (44.57) square feet.

The location of said privilege shall be as shown on prints kept on file with the Department of Business Affairs and Consumer Protection and the Office of the City Clerk.

Said privilege shall be constructed in accordance with plans and specifications approved by the Zoning Department - Signs.

This grant of privilege in the public way shall be subject to the provisions of Section 10-28-015 and all other required provisions of the Municipal Code of Chicago.

The grantee shall pay to the City of Chicago as compensation for the privilege #1094461 herein granted the sum of one hundred seventy-five (\$175.00) per annum in advance.

A 25% penalty will be added for payments received after due date.

The permit holder agrees to hold the City of Chicago harmless for any damage, relocation or replacement costs associated with damage, relocation or removal of private property caused by the City performing work in the public way. Authority herein given and granted for a period of five (5) years from and after Date of Passage.

Vi Daley 43rd Ward

Page 1

\ - 8 A^VngS

r

34- .

M1

 $\mathbf{M}$ 

34" 209'-

TRADER JOE'S

159"

TRADER JOE'S

122"

TRADER JOE'S

**ITEM© AWNING ELEVATIONS** 

SCAlf:i/4" = I'-0"

129'

196"

TRADER JOE'S

163"-+ t-

TRADER JOE'S

147"

TRADER JOE'S

189"

TRADER JOE'S

TRADER JOE'S

48"

#### **\LIGHT\ SIGN**

1225 Boms Rnd. Pgk, IL 60123-5542 Pram: B47.214.9S9S - Fee 947714.9699 www.jutfifltiilfln.ccfli

**Project:** 

## TRADER

667 W. Diversey Parkvwy Chicago, IL

Customer Approval:

LANDLORD APPROVAL:

ITEM® AWNING VINYL COPY ELEVATION

SCALE: r = VO"

#### **BRICK**

### f imXB HOLD WI« 4 -#10X14 SOJ TiPf IH6 SOrEWS

2-Bfttfisn me kstautd r raw each end AND MWH OC OH TOP BACK BAA. 2-BHACOT1 ARE M OC ON BOTTOM BACK BAA

-**r.**<sup>c</sup> <sub>T</sub>A\*\*gTupBi

SIGH SPECIFICATIONS: QUANTITY: EIGHT (8) CLOTH AWNINGS W/ VINYL COPY 3SQ. FT./eo

(X) Fabricate New Awings. (over is SunbreDa Logo Rad IO0X Acrylic Fabric. Mill Finish Aluminum Tube Frames. TRADER JOEY Vinyl Logos are 3M 7725-10 White Vinyl.

"This Document is owned by, and the information contained in il Is proprietary to. Sure Light Sign Company. By receipt hereof (he holder agrees not to use the information, drsdose it to any third party, nor reproduce tftis document without the prior written consent of Sura Light Sign Company. Holder also agrees to rmmediataly return document upon request of Sum Light Sign Company."

© Copyright 2010 by Sure Light Sign Company

REPRESENTATIVE:

Don Smith

AUTHORIZED SIGNATURE

BiDMorbw 10.21.10

5 of 6 DESIGN ORDER 0:

61712 TRJ61712

**REVISIONS:** 

Nov 16 1010:12a

# APPLICATION TO USE THE PUBLIC RIGHT

# \* APPLICANT INFORMATION

LEQALfIAME OF ENTITY: "To&AfIr -^S^'s Eft&V., InC. PERMIT MAILING ADDRESS: »i KrWirW sA-rgftV, ft^ W/loo

CITY: ^UiVifttjI

STATE: NVA

PHQNE:1ft<sub>t</sub>.H&VO<sup>^</sup> FAX

ZIP COPE: TITLE: Dirt,

# **CFVfAY**

iosh Mi

## **^BUILDING OWNER INFORMATION**

NAME: N\ft
TVSi St
STATE: tu

PHON£?,il.-feo-l<ogp FAX: ftia l<«gg

ZIP COPE: E-MAIL:

£42 tk

## USE OF THE PUBLIC WAY

I. Ust me proposed or«wistjrie u^below and comp tele ihe wwterKWt engages Use only one a^lcalicn for ai\ public wiry use iype.

TYPE

HOW MANY? BUILDING ADDRESS

2. Please endow one sketch of each proposed use of the public way, which maj b K scale he proposed use(s) end its relationship lo swirouridtrig right-of-way. AH tTreawrernpntJ must pe indicated.

The prints should also accuralefy depict tha location of the property line and | Bgrit poles, sideways).

## \* APPLICANT CERTIFICATION

### I hereby are true

that ell totrrn



, made as part of the application, and the aftocprneni<sup>^</sup> herein, LoeJnd ballet.

p blk facB'rti s (meters

TITLE:,

F.E.I.N. or SOCIAL SECURITY NUMBER: OH ~3aV\*a5c>

# AU)ERMAN'5 APPROVAL

As part of tttts appttcattori process, whose ward your proposed uaa ALDERMAN'S SIGNATURE: DATE: U-3'..ifJ

raquimd to notify/obtain approval mrom(he|Aldefr4an

IL

WARD:

Crlyof CMcip10tp\*rtrn\*r^ ifc VsyU»

SuHneii Anittance Center | City HaU, Room 800 ( 121 MorthLaSelte Street I C top, IUr fttfaDZ Viw.Cll70ft^TkMi8f».or«#-bD^ I m.74.GOBrZ(7<M.t2<rt> I 3tt.742.W74<TT0

P tee 2 of»

ORDINANCE TRADER JOE'S Acct. No. 211718-5 Permit No. 1094461

Be It Ordained by the City Council of the City of Chicago:

SECTION 1. Permission and authority are hereby given and granted to TRADER JOE'S, upon the terms and subject to the conditions of this ordinance to construct, install, maintain and use eight (8) Awning(s) projecting over the public right-of-way adjacent to its premises known as 667 W. Diversey Pkwy..

Said Awning(s) at W. Diversey Parkway measure(s):

One (1) at seventeen point four two (17.42) feet in length, and two point eight three (2.83) feet in width for a total of forty-nine point three (49.3) square feet.

One (1) at ten point seven five (10.75) feet in length, and two point eight three (2.83) feet in width for a total of thirty point

four two (30.42) square feet.

One (1) at sixteen point three three (16.33) feet in length, and two point eight three (2.83) feet in width for a total of forty-six point two one (46.21) square feet.

One (1) at thirteen point two five (13.25) feet in length, and two point eight three (2.83) feet in width for a total of thirty-seven point five (37.5) square feet.

One (1) at thirteen point five eight (13.58) feet in length, and two point eight three (2.83) feet in width for a total of thirty-eight point four three (38.43) square feet.

One (1) at thirteen point nine two (13.92) feet in length, and two point eight three (2.83) feet in width for a total of thirty-nine point three nine (39.39) square feet.

One (1) at ten point one seven (10.17) feet in length, and two point eight three (2.83) feet in width for a total of twenty-eight point seven eight (28.78) square feet.

One (1) at fifteen point seven five (15.75) feet in length, and two point eight three (2.83) feet in width for a total of forty-four point five seven (44.57) square feet.

The location of said privilege shall be as shown on prints kept on file with the Department of Business Affairs and Consumer Protection and the Office of the City Clerk.

Said privilege shall be constructed in accordance with plans and specifications approved by the Zoning Department - Signs.

This grant of privilege in the public way shall be subject to the provisions of Section 10-28-015 and all other required provisions of the Municipal Code of Chicago.

The grantee shall pay to the City of Chicago as compensation for the privilege #1094461 herein granted the sum of one hundred seventy-five (\$175.00) per annum in advance.

A 25% penalty will be added for payments received after due date.

The permit holder agrees to hold the City of Chicago harmless for any damage, relocation or replacement costs associated with damage, relocation or removal of private property caused by the City performing work in the public way. Authority herein given and granted for a period of five (5) years from and after Date of Passage.

Vi Daley 43rd Ward Page 1



34"

MI

M

34"

# Ml

209"

TRADER JOE'S TRADER JOE'S

TRADER JOE

TRADER JOE'S

ITEM® AWNING ELEVATIONS

SCALE: 1/4" = r-0"

129"

TRADER JOE'S

189'

TRADER JOE'S

TRADER JOE'S

163"--\* <-

196"

TRADER JOE'S

167"

TRADER JOE'S

48"

1225 Bcrtl HMD. Efek. tt 601SJ-S54I r>m: 6i7.214.9i99 <a href="http://6i7.214.9i99">http://6i7.214.9i99</a> - Fk Mf-IH 9SW www¹undp/uijn. corn Project:

## **TRADER**

667 W. Diversey Parkway Chicago, II

Customer Approval: AIJTHORIZED &IQMATURE LANDLORD APPROVAL: I AUTHORIZED SIGNATURE

### ITEM® AWNING VINYL COPY ELEVATION SCALE: 1" = 1'-0"

■f Z-BKACICH tIOU) VrTTM 4 - #10X16 SELf TAFf IHG SCRCVS

#### ivmwiamatm.aim

Z-BRACXIT'S ARE I:CTMUOr FROM EACH EMI AND wmx i' OC ON rw BACK sm z-\*HACKEn aR£ r-r oc on bottom hack bw

#### **BRICK**

SIGN SPECIFICATIONS: QUANTITY: EIGHT (8) CLOTH AWNINGS VY/ VINYL COPY 3 SQ. FT./eo

(X) Fabricate New Awngs. Cover is StinbreDa Loso Rad 100% Acrylic Fabric Mill finish Aluminum Tube Frames. "TRADED JOFS" Vinyl Logos are 3M 7725-10 White Vinyl.

! REPRESENTATIVE:

Don Smith

AUTHORIZED SIGNATURE

**BiDMarlow** 

10.21.10

Sof 6

DESIGN OROERP:

61712

1RJ61712

**REVISIONS:** 

This Document is owned by, and the information contained in it is proprietary to, Sura Light Sign Company. By receipt hereof the holder agrees not to use the mfomwitan, dbdosa it to any third party, nor reproduce this documam without the prior written consent of Sura light Sign Company. Holder also agrees to truthed latory return document upon request of Sun Light Sign Company.'

© Copyright 2010 by Sure Light Sfgn Company

